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Write note on following :-
(a) Ground Photographymetery
(b) Temporary Adjustment of Theodolite
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Time : 3Hrs. Sem. IV - C (R)
Surveying- 11
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-Ad a+l 20 ¥l @ IR <, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
4u—B & 9 uia y¥l @ SR <, UAD U BT 44 4 3B 2 |
Answer all Five questions from Group C, each question

carries 8 marks.
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All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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Describe difference sources of errors in theodolite.
How they can be minimised ? 8
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The tangents to a railway meet at an angle of 120"
owing to position of a building a curve is to be
chosen that will pass near the point 20 m from the
point of intersection of tangents on the bisector of
angle 120°. Calculate the suitable radius of the
curve .
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The algebraic sum of the deflection angles
of an open traverse is equal to

(a) 180°

(b) 270°

(c) 360°

(d) None of these

ot ol Arcras 7 Wi fGge=
1o BT fasha @ grar 2
(1) 180°

@) 270°

() 360°

() 379 & &I L)

The process of turning the telescope of
theodolite in horizontal plane is called .
(a) Swinging
(b) Transiting
(c) Plumbing
(d) Reversing
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Answer all Five Questions.

gl ufg g & SR o

7. Draw the sketch of a simple circular Curve and
show the following elements and derive the 8
expressions to determine them .

(a) Tangent Length
(b) Long Chord
(c) Apex Distance

el g a% &1 faF d &R feafafaa
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U BN |
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(8) <a1 Aust

() < &

8x5=40

OR(3721d)

A tacheometer was set up at station P and the
following readings were observed on a vertical
staff :-

Station| Staff | Vertical Hair reading Remarks
station angel
P B.M -4"22' | 1.050[1.103 |.156 |R.L of B.M
Q +10°0' | 0.952 [1.055[1.158 1958.3

The constant of instrument are 100 and 0. Find the
horizontal distance between P and Q and R.L. of Q
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Total lattitude and departure of any point
with respect to a common origin is termed
as .

(a) Consecutive Co-ordinates

(b) Dependent Co-ordinates

(c) Independent Co-ordinates

(d) None of these

fodl am= o a5 @ ane fef
o &1 G AT T Fd YA DI
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(W) w@aa fde®
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Which of the following vertical curve
provides the best riding qualities .

(a) Circular curve

(b) Parabolic curve

(c) Cubic parabolic curve

(d) Spiral curve
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OR(3721d)

Define the following terms:-

(a) Line of Collimation

(b) Trunion axis

(c) Bubble line

(c) Axis of telescope. 4

frafafaa sl & aRwIfia & —
(31) DT Y@

@) oo e

(8) geger Y@

(%) gxdIT &1 3&

Differentiate between fixed hair method and
movable hair method in tacheometry. 4
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Draw the contour lines to represent a hill and a
valley .
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In Gales Traverse table , two reference axes
are so chosen that whole traverse falls in
(a) First quadrant

(b) Second quadrant

(c¢) Third quadrant

(d) Fourth quadrant

ed ¢9d g H QI Had o1e g9
UPR g+ Gld & & ol d9d us |
(31) werw agerfer

@) fa<a agerfer

(®) gefra agerte
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In a curve, the super elevation ‘e’ is provided

at an arbitrary rate 1 in n. The length L of
transition curve will be .

(@) L=
(b) L=ne
() L=-—¢
(d) L= i
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Equally spaced contour lines indicate .
(a) Gentle Slope

(b) Steep Slope

(c) Plane surface

(d) Uniform Slope

T g8 R ReRr wHi=a Y@ qdrd!
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(31) "< eIt

(3) deor qTa

(|) 99del Ade

(%) vHgHE Clcl

If the scale of map is small contour interval
will be

(a) Small

(b) Large

(¢) The Same

(d) None of these
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T I=<IRTel BT
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A tacheometer fitted with an Anallatic lense

provides

(a) Additive constant 100 & multiplying
constant zero

(b) Multiplying constant 100 & additive
constant zero

(c) Both additive & multiplying constant
Zero

(d) Both additive & multiplying constant
100

Uh UATATSfed o= dlal Saaliex

U &Rdl @ |

(@) I fraaie 100 MR IS
fFradie I

@) e FrEdi® 100 SR AR
ffradie =

(@) IS e U <l RATe I

(]) ATl w9 e g4l FrRdis 100

If A be the angle of deflection of a simple
curve of radius R, the length of long chord
is ..

(a) 2R Sin 5~

(b) R Sin %

(c) 2R Cos%

(d) R COS%
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